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1= R, + Ry + Ry A
2. [B8] @
KCL : [+ L+L=10+EL 5+3—2=4+1L
L=2[A]
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pr— pu— p— Q
Ry=2+ 5, t5=2+3+5=10[Q]
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A5 pf= 10 40 0.8
40°+30> 90
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I=54/3+j5=10230" [A]
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2407
f== =120 [HZ]
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60 = 157 [m/s]
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9. [BE] O
P _ 800
Vcosd 100 x<0.8

I= =10[A]

10. [FE]
Ciy=C+C+C=1+2+3=6[F]
11. [ZE] ©

=7 T= %: 0.25 [s], Fut4 f=4[Hz]

12. [RE] ©
F=BILsin0=1.3x2x%0.3xsin30° =0.39 [N

13. [BE] @

RyR, _ 100x 10
R, 50

Ry = —20[Q]

14. [BE] ®

E= %CVQZ %x 5> 10" °x 1000 = 2.5 [J]

15. [HE]
Ve =15+15+15+15+1.5=75[V]

16. [4€] @
R,= R(1+a(T— Tp))=10(1+3.93 % 10"* < 10)= 10 % 1.0393 = 10.393 [ Q ]

17. [3E]

L M _ 6335 10"

H=
Ampy 7

g 3165 10° [AT/m]

18. [AE] ©

Aegtol At e £ Znirt FAFNS ooz

fo 1 1 _ 1 _ 10°
21V LC  27/25x10 ¥ x10x 10 % 27x5x10° " 7

= % [kHz]
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19. [BE] @
1[J]=0.24 [cal]
Q=I*Rt=2"x<3x3x60x0.24=518.4 = 518 [kcal]

20. [BE] ®
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